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Sr Questions Answers Choice

1 When did Industrial revolution took place?
A. 1750 A.D
B. 1850 A.D
C. 1900 A.D
D. 1675 A.D

2 Herding, fishing, mining and agriculture is man's:
A. Secondary economic activity
B. Primary economic activity
C. Tertiary economic activity
D. Quaternary economic activity

3 With the beginning of industrial revolution:

A. Economic activity became fast
B. Development in means of
communication took place
C. Trade activity became fast
D. Manpower demand increased

4 Primitive period of man on the earth is called:
A. Stone age
B. Iron age
C. Metals age
D. Industrial age

5 In the primitive age, man had to collect food for filling his belly:
A. From forest
B. By hunting
C. From fishing
D. From agriculture

6 In U.S.A, installed nuclear power generation capacity is:
A. 96,185 megawatts
B. 50,000 megawatts
C. 10,000 megawatts
D. 100,000 megawatts

7 At present, how many nuclear power stations are working in U.S.A?
A. 100 plants
B. 50 plants
C. 103 plants
D. 150 plants

8 Which country produces largest amount of nuclear power in the world?
A. United States of America
B. Canada
C. Russian Federation
D. China

9 What specific character, uranium-235 keeps?

A. It can be used direct in converter
reactor
B. Cannot be used direct in the
reactor
C. It is found in huge quantity
D. It is very cheap

10 At present, most of the atomic energy is derived from uranium with atomic weight of:
A. Uranium 238
B. Uranium 235
C. Uranium 234
D. Uranium 232

11 With one pound of Uranium, how much electricity could be produced?
A. One million Kw
B. 12 million Kw
C. 50 million Kw
D. 5 million Kw

12 Which country, possesses largest number of nuclear power plants?
A. France
B. Japan
C. Russian Federation
D. United States of America

13 How many percent of electricity needs, France fulfils by nuclear means:

A. 50 percent
B. 75.4 percent
C. 25 percent

D. 90 percent

14 Until 1985, how many nuclear power generating plants were working in the world?
A. 350 plants
B. 200 plants
C. 150 plants
D. 250 plants

A. 10 countries
B. 15 countries



15 Until 1985, in how many countries nuclear power stations were established? B. 15 countries
C. 50 countries
D. 26 countries


